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1. oo il PR *R1 W% Teqeol AR Sfreat: 1x6=6

Choose the correct answer from the following
questions :

(@) @b fa-foe faem @ 2
The angle of prism of a biprism is
(i) 60°
(i) <90°
(iii) >90°
(iv) S99 «bIe w2y

None of the above
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(3)

(iii) SR [ADBR %

Both of the above are correct
(iv) S¥[R OIS WT T

None of the above is correct

(d) @S FAIRA @I 791 ?
Which of the following is true?
(i) TRET T AR 4P 4P
Diffraction is the manifestation of
interference

(i) ST X' SRGTIR GF o
Interference is the manifestation
of diffraction '

(i) TACAAT SE RGN T TREGTIR 7
oI '

Interference and diffraction are two
manifestations of polarization

(iv) €T BRI T

" All of the above are correct

(e) ToRE ~fRRoTe TegE oA
In diffraction, the bright fringes are of
(i) P AR
unequal intensity
(t) ST AR
equal intensity
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(i) > A=

zero intensity
) 1R ofbve o7 72y

No
ne of the above is correct

i} WCW'@EE[

€ Intensity of light in polarization

) g

(5)

(0 «b ST WER SWPHY «F AfSTRE
TS Ra AR Wh OR ¢B1 ¥R f5a
T |
Draw a neat diagram to show the
refraction of an incident plane wavefront
by a refracting surface.

(@ @@ WA @ 50 cm AOFE 4 oA
GFR WA ST FE | A IR SRR

in
i) creases A=5000 A =, (@ & CHH Adw WY
¥ ot Noed APy B ¥
decreases A zone plate behaves like a convex lens
(@) o of focal length 50 cm. If the wavelength
Temains the of light A =5000 A, then calculate the
(iv) eory aBre Same radius of first half-period zone.
None ofth:@ o) T TF FETR RGN TeEy
2. =TS B Ry 2bove 11 1+1=2
P &1 oparq | : .
Answer gy, TR ¥R Iy ox6=12 Mention two differences between Fresnel
Y six quest; and Fraunhofer diffraction.
@ e/ ons from the followin
. TR qwmire & g f-ofeme R R-afeRT R AR /T @B
iy haf Retgem w51 o o A ol | 1%+Y5=2
an 3t is chromagj, 1*('/”‘2)’2 What is double refraction? Name
aber ° Aberration? Mention a crystal which can produce double
(b) atio of monochromatic refraction.
és\ﬁﬁﬁl‘w & S T o (@) “THF weaR-uw o R-afemae Giee
Wiite o T 2 TR A TS ol XN @B AR Uy w0 1+1=2
an ast:: "ol what > DI What is ‘Op.tic axis? Mention its one
a terrestrr: es Will happen if characteristic having relevance to double
8P/615 telescop,. Cope is ysed as | refraction.
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8. e il erpR Saw wf -

Answer the following questions :

@ TR ST 1 2o R 97 TP

PR fora

. Giye the cons

- Huygeng’ €yepiece,
one .adVantage or di
.gyepleces regarding c

truction and working
Ramsden eyepiece of
Mention at least
sadvantage of the
rosswire.

COnseryrite whether the
in ation of energy I8

(] .
- Process of fring®

6x5=~‘:

4+2% (c)

(d)

'm@"hgm S 361 g (AT
:: 1"513( 1"?‘ ﬁm1-523(p«5)
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(7))

The radii of a lens made of
crown-glass are 10 cm and 20 cm
respectively. If the refractive indices
of the crown-glass for blue and red
lights are 1-523(ug) and 1-513 (k)
respectively, then calculate the
chromatic aberration produced by

the lens.

(i) Cr4sq &, f, TF f, TSI T4 e
@ qfe v cnan ReE frey W
T @ G T I I AR
d=fi-fa
Show that for obtaining minimum
spherical aberration of two lenses of

focal length f; and f>, the distance
of their separation d = f; — f2.

IR SRS ea B @2 clv q[e
(OISR HORSA (T W, I 90|
What do you mean by diffraction?
Explain how diffraction occurs due to
a straight edge.

AT -IRS, JOR-TRES «F  Togdn-
e iR T B @ & B oom
e IR 9 O gee SRl o R
IR 1R, TEY T
What do you mean by plane-polarized,
circularly-polarized and elliptically-
polarized light? Mention how can these
three types of light be produced.
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. tically
Define specific rotation of an op
active substap,
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ce. The optical rotati

. tive
Produced by o optically ;:tion
Substance of length 1 and concen length
5% IS 20°. What should be the tration
of the same solution of concensso is
10%, so that 2 rotation of tically
Produced? Write ¢ hame of an op :
active Substance,
» . 4x
a, wﬁmﬁmmemwmm' e
Write short Notes op any two of
folloWing:
@) 2% b
Huygeny’ theory
®) e bt ]
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@ A4 gy
/4 plate
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